7. Using Jacobi me

the correspondi

8. Use Runga-Kut

iven that — =
given tha o

1835-

dy

Find the solutior
when u(0,t) =1
h=1 and u(x,(

values upto t = 5.

-(P-4)(Q-9

thod compute all th

ng eigen vectors of t

2 2 4
V26 2
4 2 2

UNIT-D

)=x(4-x), taking

(18) (4)

e eigen values and

the matrix : 20

ta method of order 4, to find ¥(0.2),
3x+%y,y(0)=1,h=0.1. 20

n of the parabolic equation uy, =2u;,
(4,t) and u(x,0)

=x(4-x), taking
h = 1. Find the
20
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Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

Note: Ques
questions in total by

question from each Unit.
1. (@) (@) C

(ii) State difference bet

tion No. 1 is compulsory. Attempt five

selecting at least omne

define Absolute error & Relative error.  2-—

ween Interpolation and

Extrapolation. 2 >

{b) Drive Newton' Raphson iterative formula for
finding cube roots. S
24835-250 -(P-4)(Q-9)(18) P.T.O
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3. (

24835-

Hence find £(1).

a) If R =4x2y°z%,

0.002, 0.003.

a) Fit a curve of t

c) Find largest Eigen value and the
12
Eigen vector of the matrix [ :{ .

d) Obtain Taylor series for

to four decimal places.

UNIT-A

and maximum relative error in R,
x=1,y=2,z=3 respectively are

3 4

find the maximum

bx

he form y=ae™ to

corresponding

5

y(x) where

y'+y2 =x,y(0)=1. Use it to compute y(0.1) up

5

absolute error

when error in
given 0.001,

10

b) If r=h(4h® -5), find the percentage error in r at
h =1, if the error in h is 0.04.

10

the following

data : 10

X: 1 2 3 4 5 6

y: 16 45 138 402 1250 300
b) Determine f(x) as a polynomial in x for the

following data : 10

X: -4 -1 0 2 5

f(x) | 1245 | 33 5 9 1335

-(P-4)(Q-9)(18)

(2)

4. (a) Find an approximate value ¢

to 4 d

-“5 1
04x+5
parts.

(b) Drive Ne

5. (a) Find by

equation

(b) Find a root of equation e™*

decimal places by using secar

6. Solve the following system of

Gauss elimination method.

2x+y+2=12,8x-3y+2z=20
4x+11y—-z=233.
24835- -(P-4)(Q-9)18) (3)

UNIT-B

ecimal places by

-dx, dividing the
]

Newton-Repson

x> ~5x+3=0, upto

UNIT-C

f log?by calculating

wton-Cote's Quadrature formulae. 10

. o1
simpson's 3 rule,

range into 10 equal

10

method, a root of

3 decimal places. 10

—-x =0, correct to 3

a1t method. 10

o

equations using th
20

P.T.O.
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